NG AE FEAR IR WL AL @ S AN P& IRl R I S O A 27— 7 8 FREHEERAEN | i
A T IRBE A RIRTL (B AL FRBI OB HE DARDL)

KRB DBNRIP ST FBUAC DWW L, BiFE L - TRLUTNET,

1 —fsrRdtmiEk
() 2HHOBE

7 e
o - e [PABEURE | mpae | apsm | SRR | e
BT KA Fe Pl 108 0 28 28 0 1.00
IEST5E)| S plils 129 0 48 48 0 1.00
ESVNEEE e EE 20 0 3 3 0 1.00
PENT JE AR EE R 10 1 6 6 0 1.00
EST R FepGitay 4 0 1 1 0 1.00
VN7 B 53 1 34 34 0 1.00
ST A S EE R 72 1 27 27 0 1.00
i 396 3 147 147 0 1.00
A @) AT 4T AT —)L
5 % P Syt | 2B | g | amE | oo, | e
[ESVAEES MR TAT AT A=)V 87 0 12 12 0 1.00
BT RIS @RI TATAT AT =) 72 0 11 11 0 1.00
AT ARZE A R MR TAT4T A)— 9 0 1 1 0 1.00
NI RH @R ) A TAT AT =) 1 0 2 1 0 2.00
i 169 0 26 25 0 1.04
s
5 i s g e | BN e | s | SR | g
4 B 4 SR | IR () m | B WEo
WS ER RS Al ER 1 0 2 1 0 2.00
VAR S = F 15 0 5 5 0 1.00
NS o BERAFR 3 1 4 4 0 1.00
IESTR 7 T3 R 25 0 3 3 0 1.00
WS 13 EF 14 0 4 4 0 1.00
VN7 T3 R F 7 0 3 3 0 1.00
WS T3 = 25 0 0 0 0 -
W3 S7) IR TR} AR 50 0 8 8 0 1.00
ST D[] T3 F R 18 0 8 8 0 1.00
N7 A O T3 R 22 0 7 7 0 1.00
N7 RO T3 Evas 6 0 0 0 0 -
ST RS 138 e 9 0 0 0 0 -
VST T2E R 7 0 1 1 0 1.00
WBSTRZRE 1.3 =2 15 0 1 1 0 1.00
N TF s ks 82 0 9 9 0 1.00
WL STRRIR TR} e e 48 2 21 21 0 1.00
BN/ NE AL T3 AR 3 0 0 0 0 -
VSTV FEBRAE T 3E R 21 0 1 1 0 1.00
VS22 B AF 2 0 1 1 0 1.00
BN/ NE Al T3 FYPAF 12 0 0 0 0 -
N7/ N JFR a3 AF 53 0 2 2 0 1.00
B STHEER KER mE 20 0 2 2 0 1.00
NI EERL MR TR 7 0 0 0 0 -
BT AR E R AL iR 11 0 3 3 0 1.00
VST AR B R AL tEAEE 34 1 5 5 0 1.00
BN REE R fEAEF 36 0 0 0 0 -
VST HE A AR 31 0 3 3 0 1.00
EASTJEARE AR—Y B R 3 0 3 3 0 1.00
Iy T 37 IR R 5 B [ Y 4 0 3 3 0 1.00
) T3 57 1y fEAEE 7 0 3 3 0 1.00
&t 591 4 102 101 0 1.01




T BN A

S ,fL, Ay,
o o 5 “yosts | VI8 g | g | S | g
T AR B ) e R 24 0 22 22 0 1.00
[ESVONLI BT i) i R 29 0 20 20 0 1.00
N7 =) B ) R 69 0 3 3 0 1.00
[ESRE R V) i R 15 0 7 7 0 1.00
&t 137 0 52 52 0 1.00
2 BANL ) @ A B o — 2 RZAURR TR
B HALHR S R
. ) - N N AR T%
25 g 2 = st | PIBNUR | mman | alsas | S50 | meR
i i BIOE | @ | ®) | MEH a0l
TR RS B S R 105 0 34 34 0 1.00
& BN ER P R
_ . _ N N = %
- s 5 Sy |PBULE mga | gy | SR | g
R F R4 Bt A B A%%Egﬁ (A) (B) E&{(ﬁc_ﬁdﬂ (A—C)/B
ELNT = TR0 AL AR T A 18 0 0 0 0 -
BN S BT AR R ER 10 0 1 1 0 1.00
N7 W AL £ i TR 8 0 0 0 0 -
BN & S B | BRBE R R} 12 0 0 0 0 -
AN A AR PR A 2 0 2 2 0 1.00
& 50 0 3 3 0 1.00
(2) EEEH O
7 EE
. ) - N " AR
¥ 1 5 Fhed “ycsp |PAZIUE| mgae | amsk | oSS | e
¥ *)( %l ¥ %’I‘ FlI-S % %%}\E 7\;%@%)}& (A) (B) Hy{(ﬁczigiﬁ (A—C)/B
IR T 7)1 Wiy AL B 66 0 12 12 0 1.00
A Hr IR
- R — Y
¥ 1 % b st | VIS | g | s | o | g
R 4 o R 4 SR | IR ) ) | B WEo
W ST AR B AR B i) 38 B BT 36 0 12 11 1 1.00
I ST AR 1 R A BANT il A A1 94 0 3 3 0 1.00
VANTJRRI R L i e 60 0 16 16 0 1.00
& 190 0 31 30 1 1.00
v BAALHR SRR
_ . _ N N = %
_ s Bt Syt | PIBHE | g | amar | S | e
¥ 4:)( Zl ¥ ‘*4‘ 5] Zl %%}\E A%%E%%{ (A) (B) E&{(%C%é‘ik (A—C)/B
I SR ey BN R A SR 52 0 8 7 1 1.00
2 ALY N— T HE A ER R e
N ,fL, Ay,
¥ ke % F Ssnts [PABIURE s | et | o | s
4 B 4 S E | S | (A ) | PR WEo
ISR P Gikas 11 0 0 0 0 -
VST iR e ples 11 0 0 0 0 -
BT B - E R 16 0 0 0 0 -
BN P Gikas 16 0 0 0 0 -
ST AL R Gilas 16 0 0 0 0 -
BT B - E R 5 0 0 0 0 -
W7 Ik R Gikas 7 0 0 0 0 -
B STE E R 12 0 0 0 0 -
FRVREN R itas 2 0 0 0 0 -
[EAR EE R 8 0 0 0 0 -
WA HE R 11 0 0 0 0 -
IENTIMIE & pilos 9 0 1 1 0 1.00
IE ST 57 IRy B 5 0 0 0 0 -
WELST JER 7Y FBlila] 5 0 0 0 0 -
IE AT A s 12 0 0 0 0 -
VAN _EiEAt 12 0 0 0 0 -
&t 158 0 1 1 0 1.00




